CIELABNY triangle lightness t*

o h=Yw  nc100,

 CiELABN7 =109 (/Y Y229 (¥,=100,¥,d/100<Y<=Y,)
t(3,6)=20,t* ,(18)=46,t*,(90)=96

t*9=95,52,y=2,5, 14=1/2,5=0,40
t*1646,18 108,42 D,=—8,42
143,6=20,19,t4,746,18 Y=18

CIELABN7
tristimulus value difference

Yac=Yw - nc=100,

 CiELABN7 =109 (/Y Y229 (¥,=100,¥,d/100<Y<=Y,)
log(dY) = (1/2,5) 10g[2,5(,/108)] + [1-(1/2,5)] logY)

dYgp=12,02,y=2.5, 1“—1 /2,5=0,40

dY;g=4,57, §=1M0,4 421

dY3 1,73 V42154 d\q =457 '
1v,=18

1 Yw=90

application
range

Yn=3.6

log AY/Y)
S=(AY/Y)

CIELABN7
tristimulus value sensitivity
Yac=Yw  nc=100,
 CiELABN7 =109 (/Y Y229 (¥,=100,¥,J/100<Y<=Y,)
log(dY/Y)= log[2,5(f,/108)] - (1/2,5) log{/Y,)

= (1/2,5) log[2,5¢,/108)] - (1/2,5) log{)

application

=46, 0Y,=4,57, dY,/Y,=C, 742 1 % 4aNnge

1
(dY/Yy5=0,1336,y=2,5, 14=1/2,5=0,40
(dY/Y)=0,2543 §=108,42 D,=+8,42
(dY/Y},=0,4830 Y,=100 dY=4,67

1Y,=18
1 Y=90

Yn=3.6

log (Y/AY)
C,=(Y/AY)

CIELABN7
tristimulus value contrast

Yoc=Yw - nc=100,

 CiELABN7 =109 (/Y Y229 (¥,=100,¥,J/100<Y<=Y,)
log(Y/dY)= - log[2,5(/,/108)] + (1/2,5) log¥/Y,)
= - (1/2,5) 10g[2,5(,/108)] + (1/2,5) log{)

1
(Y/dYyo=7,48 y—2 5, 14=1/2,5=0,40
(Y/dY)g=3.93 §,-108,42 D,=—842 application
(Y/dY}, 62,06 ¥y=100 d¥=4,57 range
1Y,=18
Yw=90

Yn=3.6

CIELABNY relative triangle lightness t*/t*,
Yoc=Yw

=100,
/e, nc

t* CiELABn7 =109 (YY) Y259 (¥,=100,Y,/100<Y<=Y, )
t(3,6)=20,t* ,(18)=46.*,,(90)=96

t*og/t*,=2,06,=2,5, 1§=1/2,5=0,40
t*19/t*,=1,00 §=108,42 D,=-8,42
13 gt*,=0,43,14,=46,18 Y=18

log[t*/t* ]=0, m,=0,47

application
range

1y,=18
Yy=90

Yn=3.6

log (A YIAY,)
AYIAY,

CIELABN7 relative
tristimulus value difference
Yoc=Yw =

=100,

t* CigLaBn7 =109 (YY) Y29 (¥,=100,Y,/100<Y<=Y, o)
log(dY/dY,) = [1~(1/2,5)] log{/Y,)

dYeo/dY,=2, 62 y—z 5 11/—1/2 5=0,40
dY,gdY,= 42D, :fs 42
dYs gd¥,=0, 37 e lOQ dy=4

=46, dY,=4,57, dY,/Y,=0,2543

log[(dY)(dY),J=0, m=0,59 4 #
e’ 1 application
o 1 range
1y,=18

Yy=90

»
!

T Yai36

log [AYY) I (AYIY),]
SSu=AYN)AYY),

CIELABN7 relative
tistimulus value sensitivity
Yoc=Yw -~ nc=100,

t* CiELABn7 =LO9 (YY) Y259 (¥,=100,Y,/100<Y<=Y, )
logl(dYM)I(AYY),] = - (1/2,5) loglIY,)

(dY/Ypo/(dY/Y)=0,52,
(dY/Y)g/(dY/Y, 1
@YYy (dYY)=

=2,5, 14=1/2,5=0,40
=108,42 D,=-8,42
/2100 dY=4,57

log[(dY/YY(dY/Y),]=0, m= 053
* =46, dY,=4,57, dY,/Y,=0,2543 |

1y =18
Y=90

YN=3.6

log [(Y/AY) I (YIAY),] CIELABNY relative
CICy=(YIAY)/(YIAY), '{I(S[In;l.\j\l/us value contrast

=100,

t* CiELABn7 =109 (YY) Y259 (¥,=100,Y,/100<Y<=Y, )
logI(Y/dY)/(Y/dY),] = (1/2,5) loglY/Y,)

(Y/dYy/(Y/dY)=1,90,y=2,5, 1§=1/2,5=0,40
(Y/dY)g/(Y/dY)=1,0Q §=108,42 D,=-8,42
(Y/dY} g/(Y/dY)=0,52 Y,=10Q d¥=4,57

Iog[(Y/de(YldYL] =0, m-5,40

application
range

Y,=18
Yw=90




